INDIAN SCHOOL MULADHA

Worksheet-5- Translation, Grammar-MCQ & Paragraph Writing

CLASS-10 SUBJECT - ARABIC

NAME: CLASS: 10-
DATE OF SUBMISSION
I. Translate the following sentences in to Arabic.
March-2018- Board Exam
Translate the following in English
S R
A ol 5 Akl sy 2
ds Al
O digll salis 3
Jra N 4
Slhadl gl ge 5
vl e Ul 6
Bosiall e Gl Y (i 7
Sl ) ol cad 8

Translate the following in Arabic

1.

He went to school

This is my book

What are you doing

How is your teacher

Yes | am a student




There is a beautiful garden in my

school

Do you want to learn Arabic?

They are playing football.

March-2019- Board Exam

Translate the following in English

RERCN «._MS]\ KV

Qe Agiaa Al

Al elila g

Al () 05l o

2ela U elilaial i

i.».n.l.t@_.o aOsSh of caal Gl
? et 13

Translate the following in Arabic

1.

2.

| am a teacher

You are a good student

What is your name

That is a school

Where do you live?

The teacher went to the library

| want to read this book

8. They are playing football.
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II. Fill in the blanks with suitable number given in the brackets.

(s [ po) alll S ) Cada(1
(o) / o) Ol (2
((Aased [ (uad) S <=l(3
(4335 / &2h) gl e Jlas =04
(] ) e 0 e (5
(Al [ )) o el S U c23(6
(s [ ) Adiudl (e Cilia jae G ya(7
(@ESSEWAREREY (8
(3aay/ asly) Ay(9
Gl / 4530) Y <SS (10
(Alai / Ala) SEpTE Caay o (11
(o1 / o)) Qhalae (12
[ Ol ) g yplb B ol o (13
(el
(drgho | zgndo ) . oyphadt 4 (14

[11.Write a paragraph of your own (consists min.10 sentences) on each of the
following topics in Arabic.
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INDIAN SCHOOL MULADHA
Holiday Assignment 2023 - 2024

Name:
Class: X Chapter No.: 6,7 & 8
Date: 15/06/2023 Prepared by: Mrs. Sheeja Abdul Jaleel

Biology

1. Why is the process of diffusion insufficient to meet the oxygen requirement of human beings?

2. Leaves of a healthy potted plant were covered with petroleum jelly. How will it affect the plant?
State two reasons.

3. Mucus is not used for churning the food or digesting it. Then why is it secreted in the stomach?
4. While eating you are advised not to talk. Why are you advised so?

5. Tooth enamel is one of the hardest substances in our body. How does it undergo damage due to
eating chocolates and sweets?

6. Which of the four chambers of the human heart has the thickest muscular walls?

7. Aleaf shaped gland is present above the intestine. The secretion of this gland regulates the
metabolism of sugar in blood. Name the gland and its secretion.

8. A man becomes unconscious due to head injury. A pin is pricked on his foot, he withdraws his foot.
Why? Explain.

9. On touching a hot plate, you suddenly withdraw your hand. Which category of neurons became
active first and which one next?

10. Give one example of plant part.
a. Which is positively hydrotropic as well as positively geotropic.
b. Which is positively phototropic but negatively geotropic.
11. Why the growth hormone should be specific during the childhood?
12. Explain how adrenaline helps in dealing emergency situations.
13. How does the plant shoot bend, when the plant is placed in a room having only one open window?

14. What are the advantages of vegetative propagation?

15. Variation is essential for the survival of species not necessarily for the individuals. Comment on it
with the help of a suitable example.

16. Explain the following: -
a. budding in Hydra.
b. binary fission in Amoeba and Leishmania
c. multiple fission in Plasmodium
d. Fragmentation in spirogyra

17. Ravi often feels weak and is unable to keep up with his classmates. Upon examination, his doctor
finds that his haemoglobin levels are significantly low. What could be the possible reason for Ravi's
condition? How can it be treated?
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18.

19.

20.

21.

22.

23.

Ananya, a 12-year-old girl, complains of frequent urination and excessive thirst. Her parents notice
that she has been losing weight despite having a good appetite. On consulting a doctor, she is
diagnosed with diabetes mellitus. Explain the underlying cause of Ananya's condition and suggest
appropriate management strategies.

Sunita, a 55-year-old woman, has been diagnosed with chronic kidney disease. Her kidneys are
unable to filter waste products and excess fluid from her blood effectively. Describe the role of the
kidneys in excretion and maintaining homeostasis in the body. Discuss the possible causes of
Sunita's kidney disease and its implications on her overall health.

Ajay, a 25-year-old man, works in a coal mine. He frequently complains of coughing, chest pain, and
difficulty breathing. After conducting tests, his doctor informs him that he has developed coal
worker's pneumoconiosis. Explain the process of respiration and the impact of inhaling coal dust on
the respiratory system. Discuss preventive measures that can be taken to reduce the risk of
occupational lung diseases.

Rohit, a 16-year-old boy, is a competitive swimmer. Lately, he has been experiencing muscle cramps
and fatigue during his training sessions. Discuss the process of cellular respiration and the role of
oxygen in energy production during physical activities. Explain the possible causes of Rohit's
symptoms and suggest strategies to improve his athletic performance.

Draw a diagram of human alimentary canal and label stomach, small intestine, liver and pancreas.

Draw a diagram of the human urinary system and label its parts.
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INDIAN SCHOOL MULADHA

Academic year 2023 - 2024

Name: Portfolio-Term 1

Class & Divn: X Summer Vacation Task

Date: Prepared by: Arjun R
ENGLISH

PORTFOLIO - ENGLISH (TERM 1)
CLASS X: 2023-2024 Batch

1. Write a biographical sketch (in 200-250 words) of any two famous freedom
fighters giving details about their childhood, their rise from a normal life to the
life of a freedom fighter or revolutionary highlighting the ordeals, sacrifices and
struggles they faced in achieving liberation or freedom for their people. You may
refer Unit 2, Nelson Mandela: Long Walk to Freedom of the First Flight textbook
to prepare a similar write up. The assignment must include their pictures and
pictures relating to their freedom movement. Bibliography is required.

2.Write a book review of any one book written by the following writers (150
— 200 words):

Charles Dickens
Roald Dahl

J K Rowling

R K Narayan
Sudha Murty
Ruskin Bond

Give emphasis to summary, best characters, theme/ message etc. Include some
pictures or art work that correlates with the book review and the story.

3. Write a poem in 20 lines (120-140 words) based on any one of the following
themes:

e Family

e Friends
e Nature

e Festivals
e Values

Include any three of the following poetic devices in the poem:

Alliteration, Metaphor, Simile, Repetition and Imagery. A rhyme scheme can be
considered to make the poem lyrical. Kindly avoid plagiarism.




Format of Cover page (Only handwritten page is permitted):

INDIAN SCHOOL MULADHA
Academic Year 2023-2024

Class X: English
Portfolio: Term 1
English Language & Literature (184)

Topics: 1. Biographies
2. Book Reviews
3. Poem

Name of the student :
Class & Division
GRNO

Roll No. :
Date of submission :
Name of the teacher :

Kindly note:
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. Only A4 sheets are to be used.

. Use one side of the sheets for all the tasks.

. Border and page number are to be mentioned on each page.

. Neatness and perfection are to be ensured in the entire portfolio.

. Make the Portfolio very attractive, colourful, and include illustrations.
. Staple the three tasks in order

. File the entire portfolio using a transparent stick file.

. All the tasks and pages must be handwritten.

Date of submission: 13 August 2023 (Sunday)
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gwiﬁf Academic year 2023 - 2024
Name: o Worksheet no: 20
Class: X Divn: Topic: Holiday Assignment
Date: 11/06/2023 Prepared by: Alice Thomas

Hindi (Course B)

. i@ wal & v ¥d Rwer gfaw:
1.?.‘\73-T?1'3TE'\T@3®'EFQI®C\Tﬁ@d%(ﬁﬁ?ﬂ'@ﬂ%?lﬁaﬁwmg?

(a) @fer (b) |HTH (c) 3= (d) B
2. THTH &1 Mfeaeh 37 glar & -

(a) HaiT ORELGIN (c) faure (d) fa=ee
3. fasaifera & Hla-ar ug reafera A g2

(a) TR (b) TST-TH (c) Tmerfed (d) TeTHART

4. T8 GAE # 3T-U¢ T gl & A1 & 6Y qa-U¢ JU7 FR-ug H [Ior-faesy
&1 gaer oY giar &, 39 HI9-T1 IHT Fed & ?

(a) sgelife (b) FHIRT (c) AegTy (d) ga=ea
5. {99 AT & Al g AW 8 g, dgl W HiA-ar A gl g7

(a) E@eed (b) &fa9 (c) qegeY (d) Sgefe
6. ‘TIUS H HIT-AT TATT & ?

(a) 3fcTiema (b) FEEURT (c) &faT (d) sgehfe
7. ‘GE @ IUSR H HAE UG ¢ -

(@) W3IPR (b) WIHR (c) g8 3UPR (d) IISPR
8. ‘e & Hia-ar AT & ?

(a) FHURY (b) SEMfE (c) Tege (d) &fa
9. ‘erdrecl’ H ieT-AT THAN & ?

(a) degeY (b) gfaT (c) FHURT (d) egweg
10. ‘B2 & foIT Gre’ &1 g#AEd 96 ¢ -

(a) =rsHTe (b) gsdTe (c) arsTraTeT (d) ggare
1. fArafaf@d & 4 v eose & 2fa9] @A™ &, 39 Use FH T FfSw?

(a) 3siaet (b) 3feetoter (c) dRTeT (d) TeqE

S

12. 3IH ¥ gdegd HATH T 3GTEI0T g7
(a) ddarFR (b) T=mafa (c) IA+ (d) TgITIAT-



13. qa-fgaT & SiA-ar AT g2

(a) HHYURY (b) &aved (c) TR (d) wEf
14, ‘SeleT # Sid-A1 FAH g2

(a) cdecd (b) &fadT (c) e (d) TEAR
15, SR 3 FT-A TG §2

(a) SrerenEma (b) gz (c) afag (d) At
16. ‘FHIIS H -0 GAH & ?

(a) gfaq (b) FHURT (c) qTeT (d) 3rerfema
17. ‘I fsd 7 Hi-A1r AN § 2

(a) Tgelfe (b) g (c) afa (d) FHUR
18, ‘HEEAT 3 Fe-aT wAE ¥

(@) Tgte (b) deged (c) TR (d) &R
19. ‘Fromafor & Ha-ar T §7

@) e (b) sEAE (©) e (d) ot
20. ‘ATSAHA UAsq -—--—---- TATT FT 3ETEI0T £?

(a) Jrearhea (b) TRy (c) gawea (d) e

. fr=afaf@a ge@mer #t vear g2 v Wt & 30X & fAv @d fAwer &1 awa Hifsw-
HIST A FY &' g 937 fa9F g,
RIS Tage] far yfey v ¢
FeAlJHN HH & 3aT I AT B,
W AT # GAT ¢ &
3 g b 9Y & 7 9Y & Ul R,
ag FIST § b S FopsT & faT AW |

(1) Ga& o7 fader T &7

(%) FATST AF &I AT S HeTAT (@) hael AT T S HLT

(1) 3SR H TFAT LT (&) e & SIS oY 7 IGaAT
(2) T HJT WER §Y &; Fifh

() T TH-GIX F €T WA & (@) ¥9 TH YT B §

(1) T T & WATAAT GAE T el g
() TP TF & ATl o Sfed ST gl

(3) HISTT & STET HAE HT FAT HROT §7?
2




() SToH U A eI (@) SoH & TAT ST Heetdr

@) aF & Aeoddr (&) HA-BA FH Reotdr

(4) #fa & IFAR, T 97 IS F7 §72
(&) STl $r gear wtelr (W) T HIS aRT GEY AT i eTAT o §L&lm
(31) 315 Srele (&) Shcied I Ulelel & el

(5) farafaf@a amal # carerqds afee-
(i) #IST &1 oA 97 fadeh TG ¢ o a8 TR & @l AIsaql &l 39aTr o5 qAS
(ii) T FTST WER dY &
(iii) T8l AT AT b TAA &
(iv) HTIST I SIeH HHA & TR el §
(V) TS ol 1S < UIST o181 glell =gy
T ¥ A @ At F fAav s Reer giav-
&) (i), (i), (v)

@) (),
@) (). (iv), (v)
@) (i

(&) (i),

an (i), (i), (iv)

) (ii), (iv), (v)

. r=afaf@a aemr #t geat g8 v weal & 3R F v w9 fAFwes &1 awa fifsw-
aﬂﬂﬁﬂ?ﬂé’ﬂwaﬂmﬁraﬂm@éﬂ?ﬁwmmﬁlmmdﬁuﬁgw
gl T Teh SIS Beucrge M| Tk Sodlee H 38 clarall s¢ fohdm AR A Y forall
3R feem & o S 1 wIE fRAT| SR-ER ddRT FT I 9RT JgT 3TDT 3@T H R
STl 38 JIdART & dR H &g gl gol I Ai| 3R el H g8 Teh e
el ga ATl fohg ag) ddNT 36d WFAE T 3ol & F 37| Fox, dforss faig
Sgc oTd, T 3R MeT| 3THT AfFded FHerad 341 & AT ST Jg 379 Siger areft
& SR H G @ A g Uh qEr AT F Fad F AY g Y WRT & faeey
AT| AT 38 3N H AT & ATER FAST| Foh] TE 31897d STl 3T AART aR-
IR 38T AT & AHA A7) AARY Jraw Hr GRe TeT H 3o ga|
(1) AR & TIT TART I elelr 3TaRTS AT, Fiteh

() daRT & fATY 3T FAeT et g 1T AT
(@) ddRT o 38 I It ager fohar an|

(I) g8 3T ShaeT A1 AT FHodar I TR gt 2T
(&) GER AT & Jash ¥ HIY W o faeeer o

(2) IHRY TR YgIHRT KA HggH F e A7
() 3MEelied (@) dad (1) Fpfad (&) 3rEEs




(3) fArAfaf@a FUT (A) TUT HROT (R) & eA=Yde ufev| 38 a1 fGU a0 fashedt
q A Fg Th T fahed gt @)
YA (A) : THRY TR TgIH Teh 3ole & Gt Fgqy T @ A
$ROT (R) : IR ddRT & STfaded & FcaTae JATTad Aar 2Tl
(F) FUA (A) TUT HROT (R) ST Il &
(@) YT (A) el g oAfehel HROT (R) TET &
(31) U (A) TG & olfehed SROT (R) FUA (A) P Ield SATEAT HIAT ¢
() YA (A) JUT HROT (R) Gl TET § dUT FROT (R) FHUA (A) FH FEI <grean

LT B
(4) ITERT AT FHeUaT dTel ddRT HET AT?
() 37 - HEH (@) | - HreT
(1) STerT- 2T () Hex- T

(5) T Y FIT WRT A7
(@) 391 MG & Jaeh T Far - foiver
(@) &Y Mg & gaeh & Far - fover
(31) TANT S gash o AT HeE - A8 A
(&) I S Faeh & Y T - @9 @y

IV. FHell Tehiehd IRAVSAT : Teh AR A AL (Group Activity)
AR & T8l Teh TS & a H SRR (3N, AT, SAg, STaeE,
AIATTS® Sfiaed, 3HATaEYT, WERAT &, FAedry, dA€9Td U Sfid, FHi¥, &R,
Fell, Gd, oJc, TRAET, JU-HW, WA-91, IRage, 36191, Tdesd T 31G) &
gV 30 Feftd o afgd gRs=n R Hifse|

(Make it colourful with illustrations, border work and cover page.)
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INDIAN SCHOOL MULADHA
Academic year 2023 - 2024
Holiday Assignment

Name:
Class X&Divn.: Prepared by : Santhosh M
Date: 11_ / 06_ /2023 Date of Submission :13. 08.2023

Subject:Malayalam
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9:
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INDIAN SCHOOL MULADHA
HOLIDAY ASSIGNMENT (2023-2024)

Class: X

Sub:MATHEMATICS

1.Solve the following quadratic equations by quadratic formula:
(i) 4x? —x-14=0 (i) 9x? +6x —8 =0 (iii) 8x? + 11x -10=0
(iv) 10 x> -19x + 7=0 (v) 16x2-10x—-9=0

2.Solve the following quadratic equations by factorisations:

(i) V3x2+10x+7v/3=0 (i) V2x2+ 7x+5V2 =0 (iii) vV2x2-3x-2v/2=0
(iV) 4/3x2 +5x-2/3=0 (VV/3x2-2v/2x-24/3=0

3.Solve:

1 1
=— +
a+b+x a

+

S| -
KR

4. Find the discriminant of the following quadratic equations:
() V3x2+10x+7v/3=0 (i) V2x2+ 7x+5V2=0 (i) 9x?+ 10x—16=0

(iv) 10x2 +x -2 =0 (VV3x2-24/2x —2v/3 =0

5.Find the nature of the roots:
() V3x2+10x+7v/3=0 (i) V2x2+ 7x+5V2=0 (iii) 9x* + 10x— 16 = 0

(iv) 10x2 + x —2 =0 (VV3x2-2v2 x-2+/3=0
6. 9.1f the following quadratic equations have two equal roots find the value of k in each case:
(i) x>+ 2x+ (k+1)=0 (i) 9x? + 6x —8 =0
(iii) 8x> + 11x -10=0 (iv) 10 x2-19x +7=0

(v) 16x> -10x —9=0

7.Find the value of k for which the equation x? + 2kx +( k? —k + 2 )= 0 has real and equal roots.

8.1f — 5 is a root of the quadratic equation 2x? + p x — 15 = 0 and the quadratic equation
p(x? + x) + k = 0 has equal roots, find the value of k.

9.1f the equation (1 + m?) x? + 2mex + ¢ — a? = 0 has equal roots, show that ¢? = a (1 + m?).

10.If the roots of the equation (a—b)x? + b—c) x+ (¢ — a)= 0 are equal. Prove that 2a = b + c.

11.Solve:
(i) 5x+%:2 (i) 2x->=5
4 i 3 _
(|||)2x+;—9 (|v)y—y—2
12.Solve:
. X+t4 x4 _80 L1 1 _3
() x—4 x+4 9 (i) x T Isox 10



QUADRATIC EQUATIONS — STATEMENT PROBLEMS

1.A two digit number is four times the sum of the digits. It is also equal to 3 times the product of

digits.Find the number.
2.Three consecutive natural numbers are such that the square of the middle number exceeds the
difference of the squares of the other two by 60.Find the numbers.
3.A motor boat whose speed is 20 km/h in still water, takes 1 hour more to go 48 km upstream
than to return downstream to the same spot.Find the speed of the stream.
4. The diagonal of a rectangular field is 16 metres more than the shorter side. If the longer side is 14 metres
more than the shorter side, then find the lengths of the sides of the field.
5.In a flight of 600 km, an aircraft was slowed down due to bad weather.Its average speed for the
trip was reduced by 200 km/hr from its usual speed and the time of the flight increased by 30 min.
Find the scheduled duration of the flight.
6.In a flight of 2800 km, an aircraft was slowed down due to bad weather. Its average speed is
reduced by 100 km/h and time increased by 30 minutes. Find the original duration of the flight.
7.Some students planned a picnic. The total budget for food was % 2,000. But 5 students failed to
attend the picnic and thus the cost of food for each member increased by  20. How many students
attended the picnic and how much did each student pay for the food.
8.In a class test, the sum of the marks obtained by P in mathematics and science is 28. Had he got 3
more marks in mathematics and 4 marks less in science, the product of marks obtained in the two
subjects would have been 180. Find the marks obtained by him in the two subjects separately.
9.A person wishes to fit three rods together in the shape of a right triangle. The hypotenuse is to be
2 cm longer than the base and 4 cm longer than the altitude. What should be the lengths of the
rods?
10.Sum of the areas of two squares is 400 cm?. If the difference of their perimeters is 16 cm, find
the sides of the two squares.
11.The difference between squares of two numbers is 120. The square of smaller number is twice
the greater number. Find the numbers.
12.In a class test, the sum of Kamal’s marks in mathematics and English is 40. Had he got 3 marks
more in mathematics and 4 marks less in English, the product of the marks would have been 360.
Find his marks in two subjects separately.
13.Seven years ago Varun’s age was five times the square of Swati’s age. Three years hence,
Swati’s age will be two- fifth of Varun’s age. Find their present ages.
14.Three consecutive natural numbers are such that the square of the middle number exceeds the

difference of the squares of the other two by 60. Find the numbers.



15.A plane left 30 minutes late than its scheduled time and in order to reach the destination 1500 km
away in time, it had to increase its speed by 100 km/h from the usual speed.Find its usual speed.

16.A motor boat whose speed is 24 km/h in still water takes 1 hour more to go 32 km upstream than
to return downstream to the same spot. Find the speed of the stream.

17.In the centre of a rectangular lawn of dimensions 50 m x 40 m, a rectangular pond has to be
constructed so that the area of the grass surrounding the pond would be 1184 m2 [see Figure].
Find the length and breadth of the pond.

=
|

18.The product of the ages of Cally and Katty is 130 less than the product of their ages in 5 years. If
Cally is 3 years older than Katty, what are their current ages?

19.The difference of the squares of two numbers is 180. The square of the smaller number is 8 times
the greater number. Find the two numbers.

20.A train, travelling at a uniform speed for 360 km, would have taken 48 minutes less to travel the

same distance if its speed were 5 km/h more. Find the original speed of the train.

COORDINATE GEOMETRY
1. 1.1f (3,5), (6,7) and (2,9) are the three vertices of a parallelogram, find its fourth vertex.

2.1f (1, 2),(4, y),(x, 6) and (3,5) are the vertices of a parallelogram taken in order,find x and y.

3.Find the ratio in which y-axis divides the line-segment joining the points A(5, -6) and B(-1, 4).
Also, find the coordinates of the point of division.

4.Find the ratio in which the line-segment joining the points P (3, -6) and Q (5,3) is divided by the
X-axis.

5.Write the coordinates of a point on x-axis which is equidistant from the points (-3, 4) and (2, 5).

6.Write the coordinates of a point on y-axis which is equidistant from the points A(6, 5) and (-4,3).

7.Find the value of y for which the distance between the points P(2,-3) and Q(10, y) is 10 units.

8.Find the possible values of k,if the distance between the points P(4,k) and Q(1,0) is 5 units.

9.Find the coordinates of the point which divides the line-joining of (- 1, 7) and (4, — 3) in the ratio
2:3.

10.Find the coordinates of the points of trisection of the line-segment joining (4, — 1) and (-2,-3).

11.Show that the points A(-1, -2), B(1, 0), C(-1, 2) and D(-3, 0) form a square.

12.Prove that the points A(2, -1), B(3, 4), C(-2, 3) and D(-3, -2) are the vertices of a rhombus.

13.Show that the points A(4, 3), B(-1, -2) and C(3, 4) are the vertices of a right triangle.

14.1f the points A(4, 7), B(p,3) and C(7,3) are the vertices of a right triangle, find the value of p.

15.Show that the points A(a,a), B(-a, -a) and C(-V3 a, V3 a) are the form an equilateral triangle.

16.how that the points (-2, 3), (8, 3) and (6, 7) are the vertices of a right triangle.

17.Prove that the diagonals of a rectangle ABCD, with vertices A(2, -1), B(5, -1), C(5, 6) & D(2,6),

are equal and bisect each other.




18.Find the relation between x and y if the point (x,y) is equidistant from the (7,1) and (3,5).

19.1f the point (X,y) is equidistant from the points (5,1) and (-1,5),prove that 3x = 2y.

20.Find the ratio in which the point (-4,6) divide the line-segment joining the points P (-6,10) and Q
(3,-8).

21.Find the area of the rhombus whose vertices are A(3,0), B(4,5), C(-1, 4) and D(-2,-1).

22.A(5, 1), B(1, 5) and C(-3,-1) are the vertices of AABC, find the length of the median AD.

23.Find the coordinates of the centroid of the triangle whose vertices are (-2, 3), (8, 3) and (6, 7).

24.1f the centroid of the triangle whose two vertices are (-2, 3)and (6, 7),find the third vertex.

25.1f the point C(-1,2) divides internally the line-segment joining the points A(2,5) and B(x,y) in the
ratio 3:4, find the value of x? + y?.

COORDINATE GEOMETRY
CASE STUDY QUESTIONS:

1.The class X students school in krishnagar have been allotted a rectangular plot of land for their

gardening activity. Saplings of Gulmohar are planted on the boundary at a distance of 1 m from
each other. There is triangular grassy lawn in the plot as shown in the figure. The students are to

sow seeds of flowering plants on the remaining area of the plot.
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Based on the above information answer the following questions:

(). Taking A as origin, find the distance of P from the origin.
(i1).Find the mid-point of the line-segment PQ.

(iii).Find the length of PR.
OR
Check whether PQ = QR.

2.In a triangle centroid is the point of intersection of all the three medians. The median is a line that
joins the mid-point of a side and the opposite vertex of the triangle. The centroid of the triangle
divides the median in the ratio of 2 : 1. If the points (1,2), (4,-2) and (-3,-5) are the vertices of A ,B
and C respectively of the triangle ABC. G is the centroid of the triangle.
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Based on the above information answer the following questions:
(i)Find the mid-point of the side AC.
(if)Find the length of BC.
(ii)Find the coordinates of G.(Using Section Formula — G divides Median in the ratio 2:1)
OR
Find the coordinates of G.(Using Centroid formula

3.Alia and Shagun are friends living on the same street in Patel Nagar. Shaguns house is at the
intersection of one street with another street on which there is a library. They both study in the
same school and that is not far from Shagun's house.
Suppose the school is situated at the point O, i.e., the origin, Alia's house is at A. Shaguns house is
at B and library is at C. Based on the above information, answer the following questions.

(i)How far is Alia's house from Shaguns house?
(i)How far is the library from Shaguns house?
(ii1)Check whether AB = AC.
OR
What type of triangle is ABC?

4.1n a GPS, The lines that run east-west are known as lines of latitude, and the lines running north-
south are known as lines of longitude. The latitude and the longitude of a place are its coordinates
and the distance formula is used to find the distance between two places. The distance between
two parallel lines is approximately 150 km. A family from Uttar Pradesh planned a round trip
from Lucknow (L) to Puri (P) via Bhuj (B) and Nashik (N) as shown in the given figure below.
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Based on the above informaﬁon answer the following questions using the coordinate geometry.
(1).Find the distance between Lucknow (L) to Bhuj(B).
(i).If Kota (K), internally divide the line segment joining Lucknow (L) to Bhuj (B) in the ratio 3 : 2,

then find the coordinate of Kota (K).
(iii).Name the type of triangle formed by the places Lucknow (L), Nashik (N) and Puri (P).

OR
Find a place (point) on the longitude (y-axis) which is equidistant from the points Lucknow (L)
and Puri (P).

SURFACE AREAS AND VOLUMES

1.Due to heavy floods in a state, thousands were rendered homeless. 40 schools collectively decided
to provide place and the canvas for 100 tents and share the whole expenditure equally. The lower

part of each tent is cylindrical with base radius 2.8 m and height 3.5 m and the upper part is
conical with the same base radius, but of height 2.1 m. If the canvas used to make the tents costs
240 per m?, find the amount shared by each school to set up the tents.

(i)Find the slant height of the conical part of the tent.
(if)Find the area of canvas required for each tent.
(iii)Find the total cost of canvas for 100 tents.
(iv)Find amount of shared by each school for the tent.

N

2.There are two identical solid cubical boxes of side 7cm. From the top face of the first cube a
hemisphere of diameter equal to the side of the cube is scooped out. This hemisphere is inverted
and placed on the top of the second cube’s surface to form a dome.

Find (i) the ratio of the total surface area of the two new solids formed.
(i1) volume of each new solid formed. (n = 3.14)




3.Adventure camps are the perfect place for the children to practice decision making for themselves
without parents and teachers guiding their every move. Some students of a school reached for
adventure at Sakleshpur.At the camp, the waiters served some students with a welcome drink in a
cylindrical glass of radius 3.5 cm and 10.5 cm and some students in a hemispherical cup whose
diameter is 7 cm.After that they went for a jungle trek. The jungle trek was enjoyable but tiring.
As dusk fell, it was time to take shelter. Each group of four students was given a canvas of area
551m?.Each group had to make a conical tent to accommaodate all the four students. Assuming
that all the stitching and wasting incurred while cutting, would amount to 1m? the students put the
tents.The radius of the tent is 7m. Find:

(i)volume of the welcome drink in each shape of cup.
(if)the slant of the conical tent.

(iii)the volume of air in each tent.
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4.0ne day Rinku was going home from school, saw a carpenter working on wood. He found that he
is carving out a cone of same height and same diameter from a cylinder. The height of the cylinder
Is 24 cm and base radius is 7 cm. While watching this, some questions came into Rinkus mind.
Help Rinku to find the answer of the following questions.



(i)Find the slant height of the conical cavity so formed.

(i)Find the curved surface area of the conical cavity so formed.
(iii)Find the external curved surface area of the cylinder.
(iv)Find the total surface area of the remaining solid

(v)Find the volume of the remaining solid.
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Vacation Assignment- Class X
(Continued...)
Chemistry

Write all the balanced chemical equations from chapter 1- Chemical reactions and equations and Chapter
2 - Acids, bases and salts.

Physics

Ray diagrams of spherical mirrors and lenses

History

Interdisciplinary Project as part of Multiple Assessments — Chapter 3: The Making of Global World
Geography

IDP- Chapter 7: Lifelines of National Economy- Transport & Communication

Economics

IDP- Project on Globalisation



